<u>Contractor</u> Steiger Construction, Inc.

2812 South 28th Street, La Crosse, WI 54601

**Contract** 2016 Curb & Gutter Replacement (Northside)

 Date
 July-17

 EDF #
 16-041

<u>LDF #</u> 16-041 <u>Job Number</u> CURB-16-21 Estimate Number
Resolution Number
Contingency Amount

#7 July **16-0290** \$29,976.38 \$255,200.00

**FINAL** 

 Contract Amount
 \$255,200.00

 Change Order #1
 \$255,200.00

<u>Job Number</u>		CURB-16-21	Change Order #	<u> 1</u>	\$255,200.00
Item #	Unit	Description	Quantity	Unit Price	Total
		RUBLEE ST (Section 1)			
		REMOVALS			
1	L.F.	Concrete curb & gutter	1156.0	\$2.90	\$3,352.4
2	S.Y.	Concrete flatwork (any thickness)	220.0	\$7.70	\$1,694.0
3	L.F.	Concrete sawing (full depth)	60.0	\$5.00	\$300.0
4	L.F.	Bituminous asphalt sawing (full depth)	50.0	\$3.50	\$175.0
5	L.S.	Removal and disposal of excess material	1.0	\$600.00	\$600.0
		Subtotal - items 1-5)			\$6,121.4
		CONCRETE CURB & GUTTER			
6	L.F.	Standard curb & gutter (including 6" compacted crushed rock)	216.0	\$14.00	\$3,024.00
7	L.F.	Misc. concrete curb & gutter (including 6" compacted crushed rock	800.0	\$14.00	\$11,200.0
8	L.F.	Reject curb & gutter (including 6" compacted crushed rock	140.0	\$15.50	\$2,170.0
9	S.F.	4" Concrete flatwork	1160.0	\$5.15	\$5,974.0
10	S.F.	5" Concrete flatwork	560.0	\$5.35	\$2,996.0
11	E.A.	Curb ramp detectable warning field (2'x 4')	13.0	\$210.00	\$2,730.00
		Subtotal - items 6-11)			\$28,094.00
		STORM SEWER			
12	L.F.	Storm sewer removal (any size)	0.0	\$23.00	\$0.00
13	E.A.	Move existing catch basin	0.0	\$1,300.00	\$0.00
		Subtotal - items (12-13)			\$0.00
		RESTORATION			
14	S.Y.	Boulevard restoration	350.0	\$8.00	\$2,800.00
15	L.S.	Erosion control	1.0	\$400.00	\$400.00
16	L.S.	Traffic control	1.0	\$2,575.00	\$2,575.00
		Subtotal - items 14-16)			\$5,775.00
		SUBTOTAL - SECTION 1 (items 1-16)	ii.		\$39,990.40
		,			,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
		2			
	2 2 2	h			
age 1 of 7					

Steiger Construction, Inc. FINAL Contractor 2812 South 28th Street, La Crosse, WI 54601 **Estimate Number** #7 July 2016 Curb & Gutter Replacement (Northside) **Resolution Number** 16-0290 Contract **Date** July-17 **Contingency Amount** \$29,976.38 EDF# 16-041 **Contract Amount** \$255,200.00 \$255 200 00 Change Order #1 Joh Number CURB-16-21

Job Number		CURB-16-21	Change Order #1		\$255,200.00
Item #	Unit	Description	Quantity	Unit Price	Total
		LOGAN STREET Section 2			
		REMOVALS			
17	L.F.	concrete curb & gutter	823.0	\$2.90	\$2,386.70
18	S.Y.	Concrete flatwork (any thickness)	220.0	\$7.70	\$1,694.00
19	L.F.	Concrete sawing (full depth)	150.0	\$5.00	\$750.00
20	L.F.	Bituminous asphalt sawing (full depth)	0.0	\$3.50	\$0.00
21	C.Y.	Excavate bio-cell & disposal of native material	130.0	\$10.25	\$1,332.50
		Subtotal - items (17-21)			\$6,163.20
		CONCRETE CURB & GUTTER			
22	L.F.	Standard curb & gutter (including 6" compacted crushed rock)	823.0	\$12.45	\$10,246.35
23	L.F.	30" ribbon curb (includes 6" compacted crushed rock)	34.0	\$17.50	\$595.00
24	S.F.	4" Concrete flatwork	805.0	\$5.15	\$4,145.75
25	S.F.	5" Concrete flatwork	750.0	\$5.35	\$4,012.50
26	S.F.	6" Concrete flatwork	815.0	\$5.65	\$4,604.75
27	S.F.	7" Concrete flatwork	1400.0	\$6.30	\$8,820.00
28	E.A.	Curb ramp detectable warning field (2'x 4')	14.0	\$210.00	\$2,940.00
		Subtotal - items (22-28)			\$35,364.35
		RESTORATION			
29	C.Y.	Bio-cell engineering soils	115.0	\$70.00	\$8,050.00
30	S.Y.	Bio-cell seed mixture, furnished and installed	120.0	\$3.90	\$468.00
31	S.Y.	Boulevard restoration	280.0	\$8.00	\$2,240.00
32	S.Y.	Class 2 type B erosion matting	120.0	\$3.00	\$360.00
33	L.S.	Erosion control	1.0	\$400.00	\$400.00
34	L.S.	Traffic control	1.0	\$1,800.00	\$1,800.00
		Subtotal - items (29-34)			\$13,318.00
		SUBTOTAL - SECTION 2 items (17-34)			\$54,845.55
		, ,			,
				5	
Page 2 of 7					

ContractorSteiger Construction, Inc.FINAL2812 South 28th Street, La Crosse, WI 54601Estimate Number#7 JulyContract2016 Curb & Gutter Replacement (Northside)Resolution Number16-0290DateJuly-17Contingency Amount\$29,976.33

 Date
 July-17
 Contingency Amount
 \$29,976.38

 EDF #
 16-041
 Contract Amount
 \$255,200.00

 Job Number
 CURB-16-21
 Change Order #1
 \$255,200.00

Job Number		CURB-16-21	<u>Change Order #1</u>	<u> </u>	\$255,200.00
Item #	Unit	Description	Quantity	Unit Price	Total
		AVON ST. (Section 3)			
		REMOVALS			
35	L.F.	Concrete curb & gutter	1115.0	\$2.90	\$3,233.50
36	S.Y.	Concrete flatwork (any thickness)	115.0	\$7.70	\$885.50
37	L.F.	Concrete Sawing (full depth)	30.0	\$4.00	\$120.00
38	L.F.	Bituminous asphalt sawing (full depth)	0.0	\$3.50	\$0.00
		Subtotal - items (35-38)			\$4,239.00
		CONCRETE CURB & GUTTER			
39	L.F.	Standard curb & gutter (including 6" compacted crushed rock)	1165.0	\$12.45	\$14,504.25
40	S.F.	4" Concrete flatwork	635.0	\$5.15	\$3,270.25
41	S.F.	5" Concrete flatwork	255.0	\$5.35	\$1,364.25
42	S.F.	6" Concrete flatwork	200.0	\$5.65	\$1,130.00
43	E.A.	Curb ramp detectable warning field (2'x 4')	4.0	\$210.00	\$840.00
		Subtotal - items (39-43)			\$21,108.75
		STORM SEWER			
44	L.F.	Storm sewer removal (any size)	50.0	\$23.00	\$1,150.00
45	E.A.	Move existing catch basin	2.0	\$1,250.00	\$2,500.00
46	L.F.	12" PVC storm sewer catch basin leads SDR-35	45.0	\$38.00	\$1,710.00
		Subtotal - items (44-46)			\$5,360.00
		RESTORATION			
47	S.Y.	Boulevard restoration	480.0	\$7.75	\$3,720.00
48	L.S.	Erosion control	1.0	\$600.00	\$600.00
49	L.S.	Traffic control	1.0	\$1,800.00	\$1,800.00
		Subtotal - items (47-49)			\$6,120.00
		SUBTOTAL - SECTION 3 items (35-49)			\$36,827.75
					•
Page 3 of 7				11	

**FINAL** 

ContractorSteiger Construction, Inc.2812 South 28th Street, La Crosse, WI 54601Estimate Number

Zesting South 28th Street, La Crosse, WI 54601Estimate Number#7 JulyContract2016 Curb & Gutter Replacement (Northside)Resolution Number16-0290DateJuly-17Contingency Amount\$29,976.38

 EDF #
 16-041
 Contract Amount
 \$255,200.00

 Job Number
 CURB-16-21
 Change Order #1
 \$255,200.00

Job Number		CURB-16-21	Change Order #	<u>‡1</u>	\$255,200.00
Item #	Unit	Description	Quantity	Unit Price	Total
		LIBERTY ST (Section 4)			
		REMOVALS			
50	L.F.	Concrete curb & gutter	1350.0	\$2.90	\$3,915.00
51	S.Y.	Concrete flatwork (any thickness)	88.0	\$7.70	\$677.60
52	L.F.	Concrete sawing (full depth)	100.0	\$5.00	\$500.00
53	L.F.	Bituminous asphalt sawing (full depth)	0.0	\$3.50	\$0.00
		Subtotal - items 50-53)			\$5,092.60
		CONCRETE CURB & GUTTER			
54	L.F.	Standard curb & gutter (including 6" compacted crushed rock)	1285.0	\$12.45	\$15,998.25
55	L.F.	Reinforced curb & gutter, (including 6" compacted crushed rock)	135.0	\$28.50	\$3,847.50
56	S.F.	4" Concrete flatwork	1287.0	\$5.15	\$6,628.05
57	S.F.	5" Concrete flatwork	965.0	\$5.35	\$5,162.75
58	S.F.	6" Concrete flatwork	0.0	\$5.65	\$0.00
59	E.A.	Curb ramp detectable warning field (2'x 4')	12.0	\$210.00	\$2,520.00
		Subtotal - items (54-59)			\$34,156.55
		STORM SEWER			
60	L.F.	Storm sewer removal (any size)	130.0	\$23.00	\$2,990.00
61	E.A.	Remove Catch Basin	0.0	\$550.00	\$0.00
62	E.A.	Catch basin	0.0	\$1,850.00	\$0.00
63	E.A.	Moving existing catch basin	4.0	\$1,250.00	\$5,000.00
64	L.F.	12" PVC storm sewer catch basin leads SDR-35	120.0	\$38.00	\$4,560.00
		Subtotal - items (60-64)			\$12,550.00
		RESTORATION			
65	S.Y.	Boulevard restoration	927.0	\$7.75	\$7,184.25
66	L.S.	Erosion control	1.0	\$400.00	\$400.00
67	L.S.	Traffic control	1.0	\$2,000.00	\$2,000.00
		Subtotal - items (65-67)			\$9,584.25
		SUBTOTAL - SECTION 4 items (50-67)			\$61,383.40
				1	
Page 4 of 7					

Contractor

Steiger Construction, Inc.

2812 South 28th Street, La Crosse, WI 54601

FINAL

Contract

2016 Curb & Gutter Replacement (Northside)

Estimate Number
Resolution Number

#7 July **16-0290** 

Date EDF # July-17 **16-041**  Contingency Amount
Contract Amount

\$29,976.38 \$255,200.00

Job Number

CURB-16-21

**Change Order #1** \$255,200.00

Job Number		CURD-10-21	Change Order #		\$255,200.00
Item #	Unit	Description	Quantity	Unit Price	Total
		POWELL ST (Section 5)			
		REMOVALS			
68	L.S.	Clear & Grubbing	1.0	\$550.00	\$550.00
69	L.S.	Remove and disposal of Excess material	1.0	\$950.00	\$950.00
70	L.F.	Concrete curb & gutter	1476.0	\$3.00	\$4,428.00
71	S.Y.	Concrete flatwork (any thickness)	310.0	\$7.75	\$2,402.50
72	L.F.	Concrete sawing (full depth)	140.0	\$5.00	\$700.00
73	L.F.	Bituminous asphalt sawing (full depth)	0.0	\$3.50	\$0.00
		Subtotal - items (38-73)			\$9,030.50
		CONCRETE CURB & GUTTER			
74	L.F.	Standard curb & gutter (including 6" compacted crushed rock)	1536.0	\$12.45	\$19,123.20
75	S.F.	4" Concrete flatwork	3030.0	\$4.90	\$14,847.00
76	S.F.	5" Concrete flatwork	251.0	\$5.35	\$1,342.85
77	S.F.	6" Concrete flatwork	1245.0	\$5.50	\$6,847.50
78	E.A.	Curb ramp detectable warning field (2'x 4')	4.0	\$210.00	\$840.00
		Subtotal - items (74-78)			\$43,000.55
		RESTORATION			
79	S.Y.	Boulevard restoration	1176.0	\$7.75	\$9,114.00
80	C.Y.	Clean granular fill	0.0	\$15.00	\$0.00
81	L.S.	Erosion control	1.0	\$400.00	\$400.00
82	L.S.	Traffic control	1.0	\$1,500.00	\$1,500.00
		Subtotal - items (79-82)			\$11,014.00
		SUBTOTAL - SECTION 5 items (68-82)			\$63,045.05
					_
Page 5 of 7					

**FINAL** Steiger Construction, Inc. Contractor 2812 South 28th Street, La Crosse, WI 54601 #7 July **Estimate Number** 2016 Curb & Gutter Replacement (Northside) **Resolution Number** 16-0290 Contract **Contingency Amount** \$29,976.38 Date July-17 **Contract Amount** \$255,200.00 EDF# 16-041 Change Order #1 \$255,200.00

Job Number		CURB-16-21	Change Order #	<u></u>	\$255,200.00
Item #	Unit	Description	Quantity	Unit Price	Total
		MISCELLANOUS			
83	D.I.	Stump removal (6" or less)	0.0	\$8.50	\$0.00
84	D.I.	Stump removal (greater than 6" -12")	30.0	\$10.50	\$315.00
85	D.I.	Stump removal ( greater than12" -18")	15.0	\$12.25	\$183.75
86	D.I.	Stump removal ( greater than18"-24")	42.0	\$14.00	\$588.00
87	D.I.	Stump removal (greater than 24")	56.0	\$15.50	\$868.00
88	D.I.	Tree & stump removal (6" or less)	0.0	\$22.50	\$0.00
89	D.I.	Tree & stump removal (6" -12")	12.0	\$23.50	\$282.00
90	D.I.	Tree & stump removal (18"-24")	0.0	\$25.50	\$0.00
91	D.I.	Tree & stump removal ( greater than 24")	25.0	\$26.50	\$662.50
		SUBTOTAL - SECTION 6 (items (83-91)			\$2,899.25
		FUNDING SOURCE:			
		2016-A Promissory Note (Streets) (2016 CIP #149, 158, 166, 168, 180)	\$242,634.00		
		2013-A Corporate Purpose (Storm)	\$12,566.00		
		2011-A Corporate Purpose (Street)	\$0.00		
		2000-B Promissory Note (Street)	\$3,791.40		
		TOTAL	\$258,991.40		
	n				
Page 6 of 7					
- 5					

Contract  Contract  Date  EDF #  Job Number		Steiger Construction, Inc. 2812 South 28th Street, La Crosse, WI 54601 2016 Curb & Gutter Replacement (Northside) July-17 16-041 CURB-16-21	Estimate Number Resolution Number Contingency Amount Contract Amount Change Order #1		FINAL #7 July 16-0290 \$29,976.38 \$255,200.00 \$255,200.00
Item #	Unit	Description	Amount	Unit Price	Total
		Total Completed			\$258,991.40
		Less 0% Retainage			\$0.00
		Amount due on Contract of total amount of work to date:			\$258,991.40
Audited		20	Total Previous Es Estimate No.	timates #7 July	\$254,434.40 \$4,557.00
COMPTROLL	ER				
		RESOLUTION			
RESOLVED: the same being	g paymen	That an order be drawn in favor of Steiger Construction, Inct of the estimate for the 2016 Curb & Gutter Replacement (Northside)		for the sum of	\$4,557.00
Respectfully Si	ıhmitted				

APPROVED BY BOARD OF PUBLIC WORKS

COUNCIL COMMITTEE